Physical & World Geography

TEST PAPER-2

The basis for determining the standard time of a
place is -

(a) Longitude line

(b) Latitude line

(c) International Date Line

(d) Prime Meridian

Sandstone is a sedimentary rock because it-
(a) formed by heat

(b) formed in the desert

(c¢) formed under water

(d) formed on top of a mountain

Which of the following are active volcanoes?

(1) Aconcagua

(2) Cotopaxi

(3) Etna

(4) Fujiyama

Select the correct answer from the code given below
(@) land 2

(b)3and 4

(©)1,2and 3

(d)2,3and 4

Which waves are generated at the time of an
earthquake?
(a) B.S.L.
(b) AB.L.
() RS.L.
(d) PS.L.

Which one of the following continents has the
highest percentage of plains in its total area?

(a) Asia

(b) Europe

(c) North America

(d) South America

Consider the following statements about asteroids -

(1) Asteroids are rocky debris of various sizes
orbiting the Sun.

(2) Most of the asteroids are small, but some have
a diameter of 1000 km. is as large as

(3) The orbit of asteroids lies between the orbits of
Jupiter and Saturn.

Of these statements -

(a) 1,2 and 3 are correct

(b) 2 and 3 are correct

(c¢) 1and 2 are correct

(d) 1and 3 are correct

10.

11.

12.

13.

The Alps Mountain range is not a part of which of
the following countries?

(a) France

(b) Germany

(c) Austria

(d) England

The 'Death Valley' is known for its -
(a) for extreme heat

(b) extreme cold

(c) to abnormal depth

(d) for excessive salinity

Consider the following statements-

1. Tropical deserts in the world are found in the
trade wind belt in the western margins of the
continents.

2. InIndia, the eastern Himalayan region receives
more rainfall from the north-easterly winds.
Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Israel shares borders with which of the following?
(a) Lebanon, Syria, Turkey and Jordan

(b) Lebanon, Syria, Jordan and Egypt

(c) Cyprus, Turkey, Jordan and Egypt

(d) Turkey, Syria, Iraq and Yemen

Which two of the following countries are divided by
the 38th parallel boundary line?

(a) Poland and Germany

(b) North Korea and China

(¢) North Korea and South Korea

(d) India and Tibet

Which city of Turkey is called the 'Gate of the West"?
(a) Istanbul

(b) Ankara

(c) Aden

(d) Izmir

Which of the following seas does not have a coast
line?

(a) Azov Sea

(b) Sargasso Sea

(c) Black Sea

(d) Caspian Sea
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14.

15.

16.

17.

18.

19.

Generally, there is a decrease in temperature with

increase in height from the surface of the earth,

because -

(1) The atmosphere can be heated only upwards
from the surface of the earth.

(2) Humidity is more in the upper atmosphere.

(3) The air in the upper atmosphere is less dense.

Select the correct answer using the codes given

below-

(a) 1only

(b) 2 and 3 only

(c) 1and 3 only

(d 1,2and 3

Why are dewdrops not formed on a cloudy night?

(a) The radiation released from the earth's surface
is absorbed by the clouds.

(b) The clouds reflect back the radiation of the
earth.

(c) The temperature of the ground surface is less
during cloudy nights.

(d) Clouds deflect the flowing wind towards the
ground level.

Japan is one of the leading industrial countries of the
world because

(a) It has abundant mineral resources.

(b) It has abundant bio energy resources.

(¢) The Industrial Revolution started here.

(d) He has high technical ability.

Which one of the following cities is not located on
the Trans-Siberian Railway?

(a) Omsk

(b) Kazan

(c) Chita

(d) Sochi

The most important fishing areas of the world are

found in those areas where -

(a) warm and cold atmospheric currents meet

(b) warm and cold ocean currents meet

(c) Rivers flow abundant fresh water into the
oceans

(d) continental shelf is waved

Consider the following pairs -

Community Country

1. Kurds : Bangladesh
2. Madhesi : Nepal

3. Rohingya : Myanmar

‘Which of the above pair(s) is/are correctly matched?
(@) 1and2

(b) 2 only

(c) 2and 3

20.

21.

22.

23.

24.

(d) 3 only

'Zulu' is a tribe related to which of the following?
(a) Zimbabwe

(b) New Zealand

(c) Mexico

(d) South Africa

For what is the term 'seasonal migration' used?

(a) movement of animals in herds

(b) Seasonal migration of humans and their
animals, from valley to mountain and from
mountain to valley

(c) Human migration in search of job

(d) migration of nomads

Assertion (A): There is no tea plantation in any

African country.

Reason (R): Tea plants require fertile soil with high

humus.

Select the correct answer using the code given

below-

Code:

(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A).

(b) Both (A) and (R) are correct and (R) is not the
correct explanation of (A).

(c) (A) is correct but (R) is wrong.

(d) (A)is wrong but (R) is correct.

Which one of the following pairs is not correctly
matched?

(Industry) (Location)
(a) Paper : Ontario
(b) Cotton Textiles : Detroit
(c) Chemical : Texas
(d) Motorcar : Nagoya

According to the international agreement on
agriculture, which financial assistance is included in
the 'Green Box"?

(1) Agricultural Research

(2) Fertilizers

(3) Irrigation

(4) Plant protection

Select the correct answer from the code given below-
Code:

(a) 1and2

(b) 2and 3

(c) 3and 4

(d) land 4
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25. Which of the following is considered the latest?
(a) Heidelberg Man
(b) Cro-Magnon man
(c) Piltdown Man
(d) Neanderthal man

26. The correct sequence of lakes falling in the Suez

Canal region from north to south is -

(a) Lake Timsah - Little Bitter Lake - Great Bitter

Lake - Lake Manjala

(b) Great Bitter Lake - Little Bitter Lake - Lake

Timsah - Lake Manjala

(c) Lake Manjala - Great Bitter Lake - Little Bitter

Lake - Lake Timsa

(d) Lake Manzala - Lake Timsah - Great Bitter

Lake - Little Bitter Lake

27. Consider the following statements related to
plantation agriculture and select the correct answer

from the codes given below:

(1) Most of the tropical plantations are located in

the low plains.

(2) Tropical plantations are found in clusters along

the sea coast.

(3) The best physical conditions are found for
rubber cultivation in the Amazon Basin, but

there is a shortage of workers.
Code:
(a) 1and 2 are correct
(b) 2 and 3 are correct
(c) 1 and 3 are correct
(d) All are correct

28. The Blue Nile River originates from which of the

following lakes?
(a) Lake Victoria
(b) Lake Tana
(c) Lake Edward
(d) Lake Albert

29. What is 'Baku' known for?
(a) Iron industry
(b) Airplane industry
(¢) Marine shipping industry
(d) petroleum

30. Panama Canal connects -
(a) North America and South America
(b) Pacific Ocean and Dark Ocean
(c) Red Sea and Mediterranean Sea
(d) Indian Ocean and Pacific Ocean

31. Which of the following continents has the largest
number of countries?

32.

33.

34.

35.

(a) North America
(b) Asia

(c) Europe

(d) Affrica

Which of the following is the largest continent in
terms of area?

(a) South America

(b) North America

(c) Affica

(d) Europe

Which one of the following continents has the
highest percentage of plains in its total area?
(a) North America

(b) South America

(c) Europe

(d) Asia

Which of the following country has the longest
coastline?

(a) Canada

(b) Australia

(c) Brazil

(d) India

How many times has the President's rule been
imposed in the state of Uttar Pradesh so far?
(@) 10

(b) 11

©9

(d) 12
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25.

26.

27.

28.

29.
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36.

37.

38.

39.

40.

41.

Consider the following statements.

1. The term population distribution refers to the
manner in which people are distributed over
the surface of the earth.

2. Roughly 90% of the world's population, 10% of
it, lives on land.

3. About 60 percent of the world's population
resides in the 10 most populous countries of
the world.

Which of the following statement(s) is/are correct?

(a) 1 only

(b) 3 only

(c) land2

(d) 1,2and 3

‘What is the annual population growth rate of
India?

(a) 1.64%

(b) 2.11%

(© 1.93%

(d) 0.79%

Which of the following country has the highest sex
ratio in the world?

(a) France

(b) United Arab Emirates

(c) Japan

(d) Latvia

The concept of human development is the
contribution of which of the following scholar?
(a) Professor Amartya Sen

(b) Dr. Mehboob-ul-Haq

(c) Alan C Sample

(d) Ratzel

In which of the following types of agriculture, sour
juicy fruits are cultivated?

(a) cooperative farming

(b) plantation agriculture

(c) Market Vegetable Agriculture

(d) Mediterranean agriculture

Consider the following statements.

1. The fifth activity is the services that create,
reorganize and interpret new and existing
ideas; Focuses on data interpretation and
application and evaluation of new technology.

2. This business, often referred to as the "golden
collar", is another subdivision of Direct
Akhtar.

Which of the following statement(s) is/are correct?

(a) 1only

(b) 3 only

(c) 1land2

42.

43.

45.

46.

47.

(d) none of the above

What is the length of Suez Canal?
(a) about 200 kms
(b) about 103 kms
(c) about 289 kms
(d) about 160 kms

Which of the following is transported through the
"Big Inch" pipeline?

(a) petroleum

(b) Liquefied Petroleum Gas (LPG)

(c) milk

(d) water

India is a member of 16 of the following trade
groups?

(a) Safta

(b) asean

(c) OPEC

(d) European Union

Consider the following statements regarding

urbanization.

1. Urbanization refers to the proportionate
increase in the population living in the urban
area.

2. The main reason for urbanization is the
transfer of villages to cities.

3. Urbanization slowed in the developed
countries in the 19th century.

Which of the following statement(s) is/are correct?

(a) 1 only

(b) 3 only

(c) 1and2

(d) none of the above

Which of the following statements is true for

sedimentary rocks?

(a) Sedimentary rocks are crystalline.

(b) Sedimentary rocks are deposited in strata.

(c) Sedimentary rocks cannot be formed in prison.

(d) Sedimentary rocks are massive whose structure
depends on temperature and pressure.

Which is the highest volcanic mountain in the
world?

(a) Mount Kilimanjaro

(b) Mount Taal

(c) Mount Ponatubo

(d) Mount Cotopaxi
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48. Which instrument is used to measure earthquake
waves?
(a) Seismograph
(b) Seismometer
(c) seismograph
(d) Seismoscope

49. Which of the following areas is called Tornado
Alley in the United States of America?
(a) Alaska
(b) Pacific Coast
(c) Mississippi plain
(d) Atlantic coast

50. Which of the following is the result of humidity?
(a) presence of moisture in the air
(b) presence of heat
(c) vapor emission
(d) Evaporation

51. In which of the following seasons the air pressure is
lowest?
(a) in the spring
(b) in autumn
(c) in summer
(d) in winter

52. Which of the following are the winds blowing from
the high-pressure area towards the Mediterranean
Sea?
(a) sea breeze
(b) monsoon winds
(c) trade winds
(d) Pachhua Pawane

53. In which of the following oceans does the Agulhas
Current flow?
(a) inthe North Atlantic Ocean
(b) in the South Atlantic Ocean
(¢) Inthe Indian Ocean
(d) In the Pacific Ocean

54. Consider the following statements.

1. The Gulf Stream is an ocean current.

2. Peruvian (Humboldt) is a cold current.

3. The Canary Current does not contribute to the
formation of an earlier gyre of currents in the
South Atlantic Ocean.

Which of the following statement(s) is/are correct?

(a) onlyl

(b) only3

(c) 1and2

(d 1,2and 3

55.

56.

57.

58.

59.

60.

61.

Which Ocean has the highest average salinity?
(a) Mediterranean Sea

(b) the dead Sea

(c) Yellow Sea

(d) Black Sea

In which of the following countries is the world's
"Rice Gene Bank" located?

(a) in India

(b) in Germany

(c) Philippines

(d) in China

What is Robusta, which originated in Africa?
(a) Enough

(b) Cocoa

(c) Banana

(d) Tobacco

Consider the following statements.

1. Single crop agriculture is characteristic of
commercial grain agriculture.

2. Fazenda is a shifting agriculture.

Which of the following statement(s) is/are correct?

(a) 1 only

(b) 2 only

(c) land2

(d) none of the above

Where in the following is "Moka" coffee grown?
(a) Brazil

(b) Argentina

(c) Iraq

(d) Yemen

Which one of the following woolen textile
manufacturing centers belongs to Germany?
(a) Wuppertal

(b) St. petersburg

(c) Bradford

(d) Prato

Which of the following countries is not part of the
North American continent?

(a) El Salvador

(b) Nicaragua

(c¢) Coasta Rica

(d) Colombia
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48.

49,

50.

51.

52.

53.

54

fohe T BT TN SJchy ¥ &k A9 & g fohar SiTar
&?

(a) f=mums

(b) Hridiex

(c) FArouTs

(d) f=Tiwnty

fAfafea 7 & forg & ot 9o I smRer o
ZRAS! Teft gt ST 87

(a) SIITERT

(b) w=Mid dc

(c) AHRH dem

(d) Stewifee TadeT

ffafea & & sndar fohaenr uikomm 82
(a) gar ¥ 7t Y IufR_fT 1

(b) EaT Fi IUfAFT 1

(c) arq IToid ohl

(d) arshtenzor @t

f=fafea @ fra &g & argera 999 &5 gt 8?2
(a) a%d Rgd
(b) RE FgH
() s ®gH
(d) faxgH

frfafEa 7 @ 3= a9 85 § (e IR &l 3R Te
areft gg= ot It giht &2

(a) Tl gad

(b) AFGA g

() =muTRen U=

(d) U U=

fAfafed 7 & srpearer urT fhd AgrmR # Terd! 87
(a) I Sfedifeeh AGHTR §

(b) zferoft sreerifees AgTR &

(c) fdemgramr &

(d) u=rid HgarR &

. fFafefed sl wR TR &2

1. T ¥IH U HgRITRA ORT 81

2. O&faTe (g9iee) Uah fid aRT 81

3. TR YR 0T Eifesh AERITR H URISH &
Teh U4 g oh (10T & ANTEH T8l &l &

3T O S 91/8 HYF Tgl 8/8?

(@) haet 1

(b) haa 3

() 138iR2

(d) 1,233

55.

56.

57.

58.

59.

60.

61.

T QR # 3Yd 9T 9aiideh 87
(a) YHE ¥R

(b) Hd ETR

(c) der IrR

(d) prell IR

ffeifEa & @ fha S  fasy &1 a1 S 9 [T
&

(@) YRAH

(b) S A

(c) forefidigd

(d) f=d

AT 1 8, St 3rhlent Hf 30 gar/gidt 82
(a) @It

(b) it

(c) ahelt

(d) demeg

fFfefEa vyl &R faaR &2

1. Qeh hlell iV, HTITR 379 Py chl fAATAT &1
2. thelgl U Ierans! HiY gl

374 9 I I1/3 Y Tal 8/8?

(a) ohaet 1

(b) ohaet 2

() 138R2

(d) U & @ s T8

fRafafad d§ @ "gier skt gt IS St 82
(a) sToftet

(b) 3rtEHT

(c) =T

(d) Tm=

fafefed St a1 Iaes dhal & ¥ S a1 ST 9
gefda g?

(a) FuRAT

(b) de dedart

(c) SSHIE

(d) gt

ffafEa § @ o 91 31 I SR HgTgiu ahr
feean 8 82

(a) ST TeaTSR

(b) FeRrmgem

(c) o Renr

CEIIER
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62.

63.

64.

65.

Consider the following statements about rural

settlements in India:

1. The general living area is distinct and segregated
from the adjacent farms, barns, and pastures in
a clustered rural village settlement.

2. The hamlets are distributed around the region,
divided by fields, and the primary or centre
village has little or no influence on the others.

Which of the statements given above is/are

incorrect?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Match List I (Minerals) with List II (Leading
producer) and select the correct answer using the
code given below:

List-1 List
I
A. Australia 1. Bauxite
B. Indonesia 2. Nickel
C. Democratic Republic of Congo 3. Copper
D. Chille 4. Cobalt
Code:
A B C D
(@ 2 3 1 4
® 3 1 4 2
o1 2 4 3
@3 1 2 4

Match List I (Tribes) with List II (Countries) and
select the correct answer using the code given below:

List- I List IT
A. Bemba 1. Namibia
B. Bushman 2. Brazil
C. Boro 3. Zambia
D. Chakmas 4. Bangladesh
Code:

A B C D
@ 2 3 1 4
® 3 1 4 2
c0 1 2 4 3
d 3 1 2 4

Which of the following statements about the

population pattern of the world is/are correct?

1. According to the most recent statistics, the
global population has surpassed 9 billion
people.

2. According to World Population Prospects 2022,
India's population is expected to be 1.412 billion
in 2022, compared to China's 1.426 billion.

66.

67.

Select the correct answer using the code given
below:

(a) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

Which of the following statements about India's

growing population is/are correct?

1. 1In 2022, 68% of India's population is between
the ages of 15 and 64, while 7% of the
population is aged 65 years or older.

2. India also has the world's highest population of
adolescents (10-19 years).

3. India's population will remain among the
youngest in the world until 2050.

Select the correct answer using the code given

below:

(a) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d) None of the above

Match List I (Religion) with List IT (Country having
largest population of thaat religion) and select the
correct answer using the code given below:

List- I List IT
A. Buddhists 1. India
B. Jews 2. Indonesia
C. Muslims 3. China
D. Hindus 4. United States
Code:
A B C D
@ 2 3 1 4
b 3 1 4 2
o 1 2 4 3
@ 3 4 2 1
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62. WRd H uriur afcaal T Iefaa Fefaf@d sadl = 2. fasy STERET d@9reHT 2022 & SER, E 6

fraR &t 1.426 faferae &t gomm & 2022 & 9Rd &t
1. 9Eg Imary &7 99 § iR e nifsa arftor ST 1.412 faferss g & 3ufic 81
&I H 39-UT & Wi, @fergHt iR TRETel & 12 14T 7Q e 1 T R FE I A
3T B (a) dad 1
2. Tl &7 & IRI 3R faaRa foeg od €, ag @t & (b) aet 2
feonfSia gia &, ofk urafaes a1 &g g &1 o= (c) 18R2aHT
TR Igd ¥ IT eh1s UG &1 8T 31 (d) Fat13RaTE2
IWR U MU YAl & T i TQ1/Y TTAd 8/87
(@) hae 1 66. YR &l Fodt S9ET & IR & F=fafaa sy 8 @
(b) a2 HI-A1/8 ol 8/8?
() 13R2a+ 1. @y 2022 &, 9Rd FI 68% SHEEAT 15 & 64 a9
(d) adt13iRas2 FI IR & & 8, FTafh 7% FGEAT 65 a9 a1
ITY 3ifdeh g I
63. T 1 (@) At g 11 (sroft Sarees) € gaferd 2. 9RAH fhAR (10-19 avf) &Y fagy 6 gad s1fdam
HIAT SR = feT 7T e o1 T R Tl IR gAT S oft
-1 gt 11 3. 9Rd ol STMETET a9 2050 dek fasy 7 Fard gar
A. e 1. JieRITSE STETET H T
B. gsMfar 2. et =2 Ry 1Y He 1 T wR TE SR IR
C. i Aehdii=Ich TURTSY 3. dia (@) 1 3R 2 hae
D. fReft 4. FETee (b) 2 3R 3 hae
@is: (c) aet13R3
A B CD (d) 379 & aig ot 75T
@ 2 3 1 4
() 3 1 4 2 67. T I (o) ot T 11 (Te e < watfae st
© 1 2 4 3 gret 221) § Aferd HfSg R A g 1 e & uar
(d 3 1 2 4 & el ST A
-1 - 11
64. T 1 (STemfaa) et g 11 (=) & a1y gaferd A &g 1. 9Rd
HISY 3R - feT 77T FHe o1 TahT R el IR gAY B. agdl 2. gSAfmr
gHi- 1 g 11 C. g\ 3.d=
A, W 1. AT D. &g 4, Igad g SRen
B. 9@+ 2. srefte kN
C. X 3. S A B CD
D. THA™ 4, AT @231 4
G S (b) 3 1 4 2
A BCD (01243
@ 2 3 14 d) 3 4 21
(b) 3 1 42
© 1 2 43
d 3 1 2 4

65. fay & Sgw@ dcd & ar # ffafea d @ o=

/8 Ry el 8/8?
1.  TdHdd Siiers! & IR, AfYe T=EET 9 oRd
AT Rl UR R TS B
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68.

Consider the following statements:

1. According to the UN population report,
worldwide population growth is slowing to its
slowest rate since 1950.

2. India's fertility rate has reached replacement
level and is continuing to decline.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

69. Which of the following statements regarding

70.

71.

72.

73.

languages spoken in the world is/are correct?

1. The most widely spoken language in the world
is Mandarin, followed by English.

2. The Bible is the most frequently translated
document, followed by Pinocchio.

3. 40% of the world's languages
endangered, with fewer than 1,000 speakers left.

Select the correct answer using the code given

below:

(a) 1and 2 only

(b) 2 and 3 only

(¢) 1and 3 only

(d) None of the above

are now

Which of the following tribes had its origins in
India?

(a) Pygmies

(b) Masai

(c) Gypsies

(d) Arawak

In 1879, the British and this tribe fought the
legendary Islandlwana War. They are recognised for
their distinct culture and customs and dwell in South
Africa's Natal Province. Which tribe is being
discussed in the above descriptions?

(a) Pygmies

(b) Dinka

(c) Shilluk

(d) Zulu

Which one of the following is not correctly
matched?

(a) East Africa - Masai

(b) North America - Red India

(c) Central Australia - Inuit

(d) Congo Basin - Pygmy

Which of the following country is the largest
producer of sugar beets?

(a) Brazil

(b) Russia

74.

75.

76.

77.

78.

(c) France
(d) India

Which one of the following is a type of shifting
cultivation?

(a) Fazenda

(b) Fang

(c) Taungya

(d) Azolla

Which of the following countries is not included in
the “Golden Crescent”?

(a) Myanmar

(b) Afghanistan

(¢) Iran

(d) Pakistan

Assertion (A): The coastal areas of Tamil Nadu in

South-East India receive rainfall during the winter.

Reason (R): Northern plains of India get winter

rainfall due to western disturbance.

Code:

(a) Both (A) and (R) are true, and (R) is the correct
explanation of (A).

(b) Both (A) and (R) are true, and (R) is not the
correct explanation of (A).

(c) (A)istrue, but (R) is false.

(d) (A)is false, but (R) is true.

The correct sequence of the following seas from east

to west is:

(a) Black Sea, Mediterranean Sea, Caspian Sea,
Aral Sea

(b) Caspian Sea, Mediterranean Sea, Black Sea,
Aral Sea

(c) Aral Sea, Caspian Sea,
Mediterranean Sea

(d) Black Sea, Mediterranean Sea, Aral Sea,
Caspian Sea

Black Sea,

Consider the following statements about 'Energy

pyramid'-

1. The energy pyramid always becomes straight
and unidirectional.

2. The animals of each trophic level give only 10%
of their energy to the next trophic level.

Select the correct statements from the codes given

below

Code:

(a) 1only

(b) 2 only

(c) both 1and?2

(d) neither 1 nor 2
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68.

69.

70.

71.

72.

73.

fefeifEa vy &R iR s

1. gad g SHEe ROl & oER, fay R #
SERAT gfeg 1. 1950 & I1¢ & 7ot qad ot
X IR A g @I 8l

2. 9Rd &I oA &, UfaeuT TR R ugg TS @
JT 3% fiRTee S 81

IR fou MU Ryl F T T 91/9 98l 8/8?

(a) Pad 1

(b) P 2

(c) 1 3R 2=

(d) Fat1siRag2

ey & icht S areft wronet & Jey F Fefafea d @

FH-T1/T HUF Tal &/8?

1. fay & g2 1fde Sielt I areft omoT Heika g,
S a1g st 81

2. B gEd S IR SraTfed a&e &, fSash
e foifat g1

3. fasg i 40% 9wTd 19 qeu &, fS=E 1,000 &
ot 1 S art 59 8|

2 3T 7Y g 1 TR R et SR gHG:

(@) 1 3R 2 dhaa

(b) 2 3R 3 ohae

(c) thad 13k 3

(d) 5T & ois oft 718t

frfafea 7 8 fore SHemfa & Saf wRa A gs o
(@) =

(b) =g

(c) foret

(d) SRIaesh

"g,1879 H, fafesr iR g9 SiTfa A dRifores gu/arn
g ST AT F U+ fafre Teepfar ok Sf3-Rareii & forg
S SiTd € Ju1 &f@ur skl & Aerd uid # &d
1"l faaror # fohg Siefar &t == <t ST <@t 82

(@) s=

(b) Fewent

(o) frgen

(d) 99
PrefefRe & & e ar gafer 78 &
(a) odf anhe - marg

(b) I 3mfRenT - 38 Sfear

(c) mem sifedforar - 5gge

(d) <im If8= - et

fr=fafed § @ @F a1 37 e w1 9 81 IATGH
&

74.

75.

76.

77.

78.

(a) sfora
(b) &&
() Wi
(d) ¥Rd

f=fafEa § @ F-a1 @mAraRa @t 1 ueaR 87
(@) Sholst

(b)

(c) &

(d) SrSitel

fAafafad J @ &9 a1 281 “Miesd thide” (Wof srgds)
# sfaer 8 87

(a) =HER

(b) ST

(€ R

(d) urfhea

&Y (A): AU R F AffeTg & 9T et |

it & R auf gidt g1

RUT (R): ¥Rd & I AeHT # ufgeft et & wror

Lfraereti= auf gt 1

&is:

(a) @i (A) 3R (R) @&l 8, 3R (R), (A) & Hgt
Wt 81

(b) @ (A) 3R (R) @&l 8, 3R (R), (A) &1 F&t
TEIHROT T8l g

(0) (A) gl 8, wifeh (R) TTetd 1

(d) (A) 8! 8, «ifeh (R) 9T 81

T IR I gE S ufgA AT Tt A &

(2) hICT AR, YA AR, HET TR, 3Rl R
(b) HhfETT IFR, YA AFR, FHAT IR, 3R IR
(C) 3R IR, ST IR, ST AR, YA ARR
(d) ohTeTT ATR, YA AR, 3R NR, hiFIT IFR

ot R & aR § fA=faf@a st R R

Hifse-

1. ol foRifas gaem diem ofk ganfesfta gt Smar g1

2. U UIVUT I oh Sig chael 10 Ufderd el gt et
YT bl &d 81

A1 faQ 7T e & et YT 1 g w

&is:

(a) ohaet 1

(b) haet 2

(c) 13R2eHt

(d) Fat1siRag2
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79.

80.

81.

82.

83.

Which of the following is not correctly matched?
(a) Brazil current - Warm current

(b) California current - Warm current

(c¢) Canary current - Cold current

(d) Agulhas current - Warm current

Match List-I with List-II and select the correct
answer from the codes given below:

List-I List-II

(Location) (Oceanic trench)
A. North Pacific Ocean 1. Sunda Trench
B. North Atlantic Ocean 2. Kermadec Trench
C. Indian Ocean 3. Mariana Trench
D. South Pacific Ocean 4. Puerto Rico Trench
Code:

A. B. C. D.
@2 3 1 4
®2 3 4 1
@©@3 1 2 4
@3 4 1 2

Match List-I with List-II and select the correct
answer from the codes given below:
List-1
Strait of Gibraltar
Dover Strait
Strait of Malacca
Bab-el-Mandeb Strait
List-II
1. Between the English Channel and the North Sea
2. Between Africa and Europe
3. Between the Red Sea and the Indian Ocean
4. Between Indonesia and Malaysia
A. B. C. D.

oSOowp

@2 1 4 3
®2 3 1 4
@3 1 2 4
@3 4 1 2

Which of the following is not correctly matched?
(a) Telegraph Plateau - Atlantic Ocean

(b) Ninety East Ridge - Pacific Ocean

(c) Walvis Ridge - Atlantic Ocean

(d) Agulhas Basin - Indian Ocean

Which of the following are correct in matching the

layer of atmosphere and its characteristics?

1. Troposphere - Aviation purposes

2. Stratosphere - Ozone layer

3. Ionosphere - Auroras

4. Exosphere - Positioned the Communication
satellites

Code:

(@) 1,2,3and 4

84.

85.

86.

87.

(b) 2,3and 4
(¢) 1,2,and 3
(d) 2and 3

Match List-I with List-II and select the correct
answer from the codes given below:

List-I List-II
A. Willy-Willy 1. Philippines
B. Tornado 2. Australia
C. Taifu 3. Japan
D. Baguio 4. US.A.
Code:

A B. C. D.
(a) 2 1 4 3
(b) 2 4 3 1
(© 3 1 2 4
(d@ 3 4 1 2

Assertion (A): Westerlies in the southern

hemisphere are stronger and

persistent than in the northern hemisphere.

Reason (R): Southern hemisphere has less landmass

as compared to northern hemisphere.

Code:

(a) Both (A) and (R) are true, and (R) is the correct
explanation of (A).

(b) Both (A) and (R) are true, and (R) is not the
correct explanation of (A).

(c) (A)istrue, but (R) is false.

(d) (A) is false, but (R) is true.

Which one of the following is not correctly
matched?

(a) Foehn - Switzerland

(b) Haboob - Sudan

(c) Blizzard - Canada

(d) Zonda - Spain

What is the correct sequence of different trophic

levels in a natural food chain?

(a) Decomposers - Omnivores - Carnivores -
Herbivores - Autotrophs

(b) Autotrophs - Carnivores - Omnivores -
Herbivores - Decomposers

(c) Autotrophs - Herbivores - Carnivores -
Omnivores - Decomposers

(d) Herbivores - Omnivores -Decomposers -

Carnivores- Autotrophs
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79. Ffafed d @ o= a1 gafed T8l 87 83. IRgHSA i IR SR ITh faiwarsti & fAerm o
(a) STSfter SRT - TH YRT fafefea d @ e adt &2
(b) Fefrmifar ey - 7o ary 1. &loHEd - fauA 38T
(€) T URT - St URT 2. GHAY HEd - 3fiSiF IRd
(d) STITEr YRT - I80T YRT 3. IIHSH - 3RRT
4. 9fgHSd - GIR IUUGT I T=ATI
80. -1 o Tf-11 @ gafrd RISy ok R Ry 1y e Fe:
9 98 IR AT (@)1,2,33R4 (b) 2,3 3R 4
g1 g=h-11 (©1,2,3R3 (d)2 3R 3
() (S )
A. I URIT HENTR 1. g1 84. gdt-1 ol G-I @ gAferd IS iR 2 iy 19 e
B. I Sfedifesh HEMIFR 2. HATSH Tl ¥ Tt SR AT
C. fegagEamR 3. ATRAT T gt 11
D. af&ur usrid 7R 4. Zet Rept e A, faeft-faeft 1. forefidia
®lE: B. arAs 2. sirefern
A. B. C. D C. dg 3. SaH
(@ 2 3 1 4 D. sFEsf 4.9.q4.q.
b)y2 3 4 1 CorH
(© 3 1 2 4 A. B. C. D
d3 4 1 2 @2 1 4 3
b)y2 4 3 1
81. TH-I & GH-11 & gRferd FIfSY iR it f§T 73 Fe ©3 1 2 4
9 gl S| AT d3 4 1 2
g1
A. fSsTeeR STesaeqen 85. YA (A): aferoft Mere # ugaen gard I Mare dr
B. iR SdgHEHE g1 # ferremedt 3R TIER &1
C. AIHRI STASHEAH @Rl (R): af@ioft Mere # I meref i gamr & A
D. JME-3e-Agd TISHEHE 4 & 81
gHi-11 CoEcH
1. SR Aet ofR S0 IR & i (a) &M (A) 3R (R) H&l 8, 3R (R), (A) 1 Tt
2. rthient 3R gU & &= e g
3. e 9nR 3R e AgranR & i (b) @i (A) 3R (R) W&l &, 3R (R), (A) &1 H&t
4. SR ofk wafran & o= TR T8 &
A. B. C. D. A) T8l 8, A (R) 7Terd 81
@2 1 4 3 (d) (A) gl 8, «ifeh (R) 9T 1
b)y2 3 1 4
(© 3 1 2 4 86. Fmfaifed # @ &9 a1 gt gaferd a8l 87
(d3 4 1 2 (a) ™ - EeeRes (b) & - g8
(C) soAISTS - hreT (d) FieT - |
82. fm=fafed # @ o a1 gafera 781 82
(a) HUTHh USR - Sfedifedh HgRATR 87. U A4fifeh SMER et # fafa= gtwor TRf < 4@t
b) EE $& RS - Uid HGHTR 3IIchH T 87
(c) anfeard R - sreaifes AgITR (a) STUHEH - GATGRY - AIATERY- AMMhTERI- WUIST
(d) SR afdF - fgg AgrmR (b) @WUH - HIOTERY - ATERY - QATRIBRY- TECh
(c) WU - RMRTERY - HITTERI - GAgRY - 3Ugceh
(d) ATRTBRY - TATERY - 3TUEee - WulHi- AETERY
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88. Consider the following statements about 'The

89.

90.

91.

Sargasso Sea' -

1. The Sargasso Sea is related to the North
Atlantic Ocean.

2. The Sargasso Sea is characterized by typical
marine vegetation.

3. The Sargasso Sea does not have a coastline.

Select the correct statements from the codes given

below

Code:

(a) 1only

(b) 2 only

(c) both1and?2

(d) 1,2and 3

Match List-I with List-II and select the correct
answer from the codes given below:

List-I
(Natural Disaster)
A. Tsunami
B. Landslide
C. Drought
D. Flood
List-IT
(Affected Area/Region)

1. Himalayan Zone

2. West and Central India Zone

3. Plains of Uttar Pradesh and Bihar
4. Southern Coastal area of India

Code:
A. B. C. D.
(a) 2 1 4 3
(b) 2 4 3 1
(3 1 2 4
d 4 1 2 3
Arrange the following constituents of the

atmosphere in descending order of their volume.
(a) Oxygen, COz, Neon, Helium

(b) Argon, CO., Neon, Oxygen

(c) COq, Neon, Oxygen, Argon

(d) Neon, Oxygen, Argon, CO2

Weaver is related to which of the following:
(a) Transport Theory

(b) Crop Combination Method

(c) Unbalanced Growth Strategy

(d) Administrative Principles

92. The statement 'Resources are not, they become'

belongs to:

(a) John Friedman
(b) Smith

(¢) Zimmermann

93.

94.

95.

96.

97.

98.

(d) Max Yu Lorenz

Consider the following statements:

1. Bharatpur and Dhaulpur districts of Rajasthan
share borders with Mathura and Agra districts
of Uttar Pradesh.

2. Saharanpur district of Uttar Pradesh shares a
border with both Uttarakhand and Himachal
Pradesh and Uttar Pradesh shares the shortest
border with Uttarakhand.

Which of the above statements is/are not correct?

(@) 1Only

(b) 2 Only

(c) Both

(d) None of the above

Kolkhoz is concerned with

(a) A Mine in Russia

(b) Agricultural Farms of Russia
(c) A Communist word

(d) Army Organisation

Consider the following statements:

1. Wheat seeds require a temperature between
10°C to 15°C for sowing, germination and
initial development.

2. Wheat requires 20°C to 25°C temperature while
ripening.

3. Wheat crop is a Kharif crop.

Which of the above statements is/are not correct?

(a) 1and 2 only

(b) 1 and 3 only

(c) All of the above

(d) only3

Oolong tea is related to which of the following
(a) Affrica

(b) Brazil

(c) Taiwan

(d) Philippines

The largest producer of Uranium in the world:
(a) Russia

(b) Kazakhstan

(c) Saudi Arabia

(d) Canada

The Central Institute for Subtropical Horticulture is
located at :

(a) Meerut

(b) Lucknow

(c) Noida

(d) Gautam Buddha Nagar
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88.

89.

20.

91.

92.

'TIME IR’ & TR § fAefof@a syl R faeRr fifsg
1. T QIR Hl T I STl HgRTR 9 8l
2. IOTE! 9FR U fafe gt gt g1

3. T YUR 6l IS Jear TEl &1

2 f&Q 7T e & et FHYT 1 T B

@i

(a) a1

(b) P 2

(c) 13R2H

(d) 1,233

-1 ot -1 § gafora Ay ofk f3 Ry e e @
gl IR AU

g1 gH-1I

(srepfarer 3iraa) (aifaa g/8)

A. gt 1. ferTerdt &=

B. y&ae 2. ufgH 3R 72 vRd
&l

C. g@r 3. IR U SR f[gR &
FeHT 9T

D. sT% 4. 9Rd I feoft aér
e

@ls:

A. B. C. D

@2 1 4 3

by2 4 3 1

©3 1 2 4

@4 1 2 3

argHvEH o fAmfelRed Teahl l Ik ST & STeRig!
%Y ¥ afed $IfSig|

(a) e, CO,, M, giferam

(b) 3w, CO,, A, siterftsr

(c) CO,, A, sifefteH, smf

(d) faf, sifesfiem, em, CO,

fAefafaa & frag dfiax & d9w &
(a) uRee fgid

(b) waw Ggter fafer

(c) sregferd forenma Toriifa

(d) u=mHdE fRgia

'G1EE gld g1, 1Y ST &' I8 U &
(a) i< ThigsaA

(b) &g

() ==

(d) # g ARST

93.

94.

95.

96.

97.

98.

@ sy ® foar wRw:

1. ISTRIF & RAR R R S IWR weyr &
HYRT 3R ATRT STUE & AT GI31T el 8 |

2. IR U ST gRAR FUE IARES a7 fgAraer
Ueer g & AT TS HRAT § JUT IR UL
IARIGS T a9 BT AT Q17 et g

IR | I T hy Tt g1 87

(a) dad 1

(b) a2

(c) T

(d) SuRie & i et

PITGIST T &Y &

(a) =9 Fluah @
(b) =9 F PN &
(C) Teh ATQTET 165
(d) o7 E

T sy w R sk

1. Ag & &S 99, SigRur auT IR fae & fog
10°C & 15°C & T dTUHT i aThdl gidl 8

2. ﬁEﬁWWZOT@IZ?CWEﬁ
JTILGhT gicit g

3. g hl HHd B Hl HE il o

SURIer B i< 91 Sy 9gl gl

(a) ohaet 1 3R 2

(b) dhaa 1 3R 3

(c) S gt

(d) a3

AT A AT ST A A I 8
(a) STehihT

(OEIEIS

(c) argad

(d) forcfidia

QT T GeY IST IATGeh a1 8§

(@) &9

(b) CINILEIRIG]

(c) Idl erfemr

(d) TSt

Yool ST Bk Ga-¢IfUdhd glfécheo BT 8:
(a) o

(b) =TS

(c) g

(d) MaH Ig TR
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99.

100.

101.

102.

103.

104.

105.

106.

Which category of state is Uttar Pradesh in terms of
mineral resources?

(a) Low Grade

(b) Lower Middle Class

(c) Upper Middle Class

(d) Middle Class

Consider the following statements:

1. According to traditional scientific studies there
are 7 basic races of mankind.

2. Mongoloids are known as 'Yellow People'.

Which of the above statements is/are correct?

(a) Only one

(b) Only two

(c) Both

(d) None of the above

Mabuti and Twa are related to which of the
following

(a) Jakun Species

(b) Pygmy Species

(c) Sakai Species

(d) Jarawa Tribe

Which of the following is a Semitic tribe
(a) Jewish

(b) Irani

(c) Sugar

(d) African

To which race do the tribal population of Andaman
and Nicobar Islands belong?

(a) Nordic species

(b) Negroid race

(c) Australoid race

(d) Mongoloid race

The residence of Masali tribe is called:
(a) Kraal

(b) Sijda

(c) Reed hut

(d) Khaima

The latitudinal extension known as the knot of
population is:

(a) 30°to 35° North latitude

(b) 20° to 40° South latitude

(c) 20° to 40° North latitude

(d) 20° to 40° in both hemispheres

The number of cities having the population of 1
million in Uttar Pradesh are:

(a) 11

(b) 10

107.

108.

109.

110.

© 7
) 9

Which is the least populated district of Uttar
Pradesh:

(a) Agra

(b) Shamli

(c) Mahoba

(d) Siddharth Nagar

Consider the following

(a) Ramgarh Tal - Gorakhpur
(b) Dhamekh Stupa - Kushinagar
(c¢) Shukla Talab - Kanpur Dehat

(d) Gupta temple of Bhitargaon - Kanpur city
Find out the mismatched in the above:

Consider the following statements

1. Kajali fair is a famous fair held in Mahoba
district of Uttar Pradesh.

2. Dialects spoken in Uttar Pradesh Apart from
Khari Boli, Braj, Bundeli, Kannauji, Awadhi,
Bagheli and Bhojpuri, Garhwali and Kumaoni
are also spoken in Uttar Pradesh.

3. Sahariya tribe is the tribe living in Sonbhadra
district.

Which is/are the correct statements given above?

(a) 1 Only

(b) 2 Only

(c) All of the above

(d) None of the above

Consider the following statements:

1. The city of Ghaziabad in Uttar Pradesh is
known by the nickname Little Delhi.

2. Sonbhadra district located in Uttar Pradesh is
called the rice bowl

The correct statements is/are in the statements given

above:

(a) 2 only

(b) 1 only

(c) Both 1and 2

(d) None of the above
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99, IR U WIS THTEHT o ATHA | fehe 2A0ft &1 50
&?

(a) = sioft

(b) =1 mey goft

(c) S geaw Huft

(d) Fez sioft

100. foifed oAl R faar &wRke

1. URUR® aFh NI o AR AFG Sifd i
7 9 USTIfd 81

2. HMArIgd dt 'did AT dt tiud & w9 F SE1
ST 8l

IR H gt hY— §

(a) %haei T

(b) daetal

(c) &t

(d) SoRied & g e

101. At M @ A deg A A 9 8
(a) ST gt
(b) foret gomfa
(c) TS TTTfa
(d) STRar yiTfa

102. 7 & @ o9 Jafees Senfa @
(a) Tgdt
(b) &t
(c) <=
(d) anhidhr

103. 3ieAM 3R MeplaR gl Tigg i srfeamrdt sHeE
forg enfa & Tefda g2
(a) TS yemfa
(b) frise gemfa
(c) SifEwrgs ueifa
CRUSIEESIIG]

104. 7918 ST & a1 ot gl ST 8
(a) shret
(b) Histar
(c) ds8e
(d)

105. ST St Tt & TG & ST ST arer sietisfta
ICESIEES
(a) 30° & 35° I Srefiar
(b) 20° & 40° &feyoft srerier
(c) 20° § 40° I IreTiar
(d) 20° & 40° g Memef F

106.

107.

108.

100.

110.

IR UG H 10 ATENT g chl TEAT &
(a) 11
(b) 10
() 7
(d) 9

IR USRT T o A ST-IKRET Tell foiell i 91 @
(@) SIMRT

(b) =M=

(c) wgtaT

(d) frgrd TR

fAafafEa w R &Ry

(a) WHITe dred

(b) i wqU

(C) IR TSl

(d) ofa=ria o ekt HiRR

IRt # srgAferd &

fAafafed sy wR AR sRka:

1. cholell Hell IR TN & AT Siet & o arert
Teh UG Aefl 81

2. IR U H Sieft A areft siferat @t ateft, s,
et Satett, sTaefl, Tee g WieTgR & sifafed
TgaTell g AT it IR Ueer & el SIret

3. UeRar Seenfa @Fys S 7 Ram o areft
SESUGEL

SURIer | gl o &

(@) had 1

(b) ohaet 2

(c) IWRiad Tt

(d) SoRiee & IS et

fefafaa sy w R sk

1. IR UG & MISIATETE AER hl BI et Iu=m
g ST ST 8

2. IWUST H [ GFHg et &t &1 1 ekt
ERISICIN

IWRIe | Tgl hY &:

(a) dad 2

(b) haet 1

(c) 13fR2amt

(d) SWiad & ¥ et

FHfTR
FHFYR SgTd
FER TR
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111. Devipatan Temple (Pateshwari Devi) is situated at:

112.

113.

114.

115.

a. Gautam Buddha Nagar

b. Balia
c. Balrampur
d. Deoria

Bahraich district of Uttar Pradesh is related to which
of the following?
a. Raja Suheldev Temple

b. Sitakund Ghat
¢. Dhanpur Martyr Memorial
d. Shakambari Devi Temple

Which is the district with the highest population
density in Uttar Pradesh?
a. Prayagraj

b. Ghaziabad
c. Varanasi
d. Moradabad

Consider the following statements

1. Mathura is the most rainy district of Uttar
Pradesh.

2. Gorakhpur is the least rainfall district of Uttar
Pradesh.

The correct statement in the above is :

a. 1Only

b. Both1and2

c. 2Only

d. None of the above

When was Lucknow fully declared as the capital of
Uttar Pradesh?

a. 1921
b. 1935
c. 1925
d. 1930

116. Consider the following statements:

117.

1. Jhansi district of Uttar Pradesh is surrounded by
Madhya Pradesh on three sides.
2. Sonbhadra district is the southernmost district

of Uttar Pradesh.

3. The width of Uttar Pradesh state from north to
south is 240 km.

‘Which of the above statements is/are not correct:

a. 1and2 Only

b. 1and 3 Only

c. All of the above

d. 1only

Which of the following is the easternmost district of

Uttar Pradesh?
a. Ballia

118.

119.

120.

b. Deoria
c. Ghazipur
d. Kushinagar

Consider the following statements

1. Shravasti, Mahoba and Chitrakoot are the
districts of Uttar Pradesh which have the least
number of assembly seats.

2. Hapur is the smallest district of Uttar Pradesh in
terms of area.

3. The state of Uttar Pradesh was bifurcated on
November 9, 2000, after which a new state
Uttaranchal emerged, which we currently know
as Uttarakhand.

Which of the above statements is/are not correct:

a. 1Only

b. 1and?2 Only

c. 1and 3 Only

d. None of the above

The Indian Institute of Vegetable Research is
located at:
a. Lucknow

b. Varanasi

c. Kanpur

d. Gorakhpur

The percentage of males in the population of Uttar
Pradesh is:

a. 54.63%

b. 51.30%

c. 52.29%

d. 4%

121. Consider the following statements about "Travel and

Tourism Development Index, 2021'-

1. Inthis Index, Japan is on the top.

2. This index is released by the World Economic
Forum (WEF).

3. In this Index, India has got 54th position.

Which of the statements given above is/are correct?

(a) 1only

(b) 2 only

(c) 1and 2 only

(d 1,2and 3
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122.

123.

124.

125.

126.

127.

In which state is the country's 52nd Tiger Reserve
Ramgarh Vishdhari Sanctuary located?

(a) Rajasthan

(b) Uttar Pradesh

(c) Chhattisgarh

(d) Madhya Pradesh

What is the name of the first Indian fast bowler to
take 250 wickets in T20 cricket?

(a) Jasprit Bumrah

(b) Bhubaneswar Kumar

(c¢) Shardul Thakur

(d) Mohammed Shami

What is the name of the country's 100th unicorn
company?

(a) Unacademy

(b) Byjus

(c) Neobanking platform Open

(d) Zomato

Consider the following statements regarding the

'14th BRICS Foreign Ministers Meeting'-

1. 'BRICS Foreign Ministers meeting' was held in
China to prepare for the 14th BRICS Summit.

2. This meeting was organized in virtual form.

Select the correct statements from the codes given

below

Code:

(a) 1 only

(b) 2 only

(c) both1and?2

(d) neither 1 nor 2

Which 6-year-old Indian chess player has created
history by winning gold in the Open Under-8
category at The World Cadets and Youth Rapid &
Blitz Championship, 2022 held in Greece?

(a) Raghav Pathak

(b) Ashwath Kaushik

(c) Modith Aroh Mutyalpati

(d) none of these

Consider the following statements about 'First

Bharat Gaurav Tourist Train' -

1. This train will run on the Ramayana circuit
marked under the Swadesh Darshan scheme.

2. The first stop of this journey will be in Varanasi.

Select the correct statements from the codes given

below

Code:

(a) 1 only

(b) 2 only

(c) both 1 and 2

(d) neither 1 nor 2

128.

129.

130.

131.

132.

Where is India's first Amrit Sarovar situated?
(a) Kerala

(b) Uttar Pradesh

(c) Madhya Pradesh

(d) Punjab

Recently, Elisabeth Borne took charge as the second
woman Prime Minister of which country?

(a) Germany

(b) France

(c) Portugal

(d) Spain

Where was the first Incredible India International
Cruise Summit, 2022 organized?

(a) Varanasi

(b) Mumbai

(c) Visakhapatnam

(d) Chennai

Consider the following statements about 'India's first

Regional Rapid Transit System (RRTS) corridor' -

1. The maintenance and operation of this set of
trains will be done from Duhai Depot in Uttar
Pradesh.

2. This corridor is being constructed between
Delhi-Ghaziabad-Meerut.

Select the correct statements from the codes given

below

Code:

(a) 1only

(b) 2 only

(c) both 1 and?2

(d) neither 1 nor 2

Where was the 8th India Maize Summit, 2022 held?
(a) Lucknow

(b) Indore

(c) New Delhi

(d) Jaipur
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122. 331 T 5277 T5TR Reid I7T6 ARy s1aRoT fohg
I ¥ T &7
(@) I
(b) IR UERT
(0) s<ftae
(d) Temudsr

123. &-20 fohche F 250 fadhe @ aTet Uget VR dst
HeaTST T A1 T 87
(a) STt gRTE
(b) R FAR
() e BT
(d) mgwe erft
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fagsr 43Tt &t do A9 F & 751
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(a) ohaet 1
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(d) Fat18iRa2
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(a) e

(b) SRy

(c) AT U

(d) deme

g g1 #, gforarey & 3 fhg a1 Y gt Afgen
T & &9 F UgHR TgUT foRam?

(a) ST+

(b) wiIT
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(b) qe8

(c) fazmarag=

(d) ==
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(d) Fat1siRa2
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(b) $ER

(c) =S feeett
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133.

134.

135.

136.

137.

138.

Consider the following statements about the 41st

"Hunar Haat" function-

1. The function was inaugurated by the Union
Minister for Minority Affairs Shri Mukhtar
Abbas Naqvi.

2. It is being organized at Shilpgram, Tajganj,
Agra.

Select the correct statements from the codes given

below

Code:

(a) 1only

(b) 2 only

(c) both1and?2

(d) neither 1 nor 2

‘Who has won the Miami Grand Prix, 2022 Formula
One car race title?

(a) Max Verstappen

(b) Carlos Sainz

(c) Valtteri Bottas

(d) none of these

SAMBHAV portal has been launched by which
state recently?

(a) Rajasthan

(b) Bihar

(c¢) Uttar Pradesh

(d) Haryana

Who among the following was selected as the
'Player of the Match' (Final) in the ICC Women's
Cricket World Cup held in the year 2022?

(a) Debbie Huckley

(b) Sophie Ecclestone

(c) Alyssa Haley

(d) Jhulan Goswami

Which has become the first country to make 21-day
quarantine mandatory for patients suffering from
monkeypox virus?

(a) Israel

(b) Belgium

(c) Germany

(d) Belarus

The India Pulses and Grains Association, the apex
body for India's pulses trade and industry, has
appointed Vimal Kothari as its new president with
immediate effect. Kothari has replaced whom?

(a) Manoj Kumar Katiyar

(b) L.V. Vaidyanathan

(c) Naresh Kumar

(d) Jeetu Bheda

139.

140.

Where was the 4th edition of India Vote and Marine
Show held?

(a) Tirunelveli

(b) Trivandrumpuram

(c) Kochi

(d) Visakhapatnam

Which of the following signed a joint declaration to
set up a task force on green hydrogen in the field of
renewable energy?

(a) India and France

(b) India and Germany

(¢) India and Israel

(d) India and Bangladesh

141. Which of the following is the name of the album by

142.

143.

Indian American singer Falguni Shah that won the
Grammy Award in the category of Best Children's
Album?

(a) Grimm's Fairy Tales

(b) Fruit Children Eye

(c) Youread to me, I read to you

(d) A Colorful World

On which date International Children's Day is
celebrated by the International Board on Books for
Young People?

(a) 05th March

(b) 12 March

(c) 02April

(d) 07th May

National Safety Motherhood Day is celebrated

every year on the following statements and consider

1. Ttis celebrated every year on 11th April

2. Itisan initiative of White Ribbon Alliance India

3. It is celebrated on the birth anniversary of
Kasturba Gandhi

4. It is an initiative to take care of women during
delivery and post delivery services and to make
them aware

Select the correct answer using the code

(a) Statement 1 and 2 are true

(b) Statements 2, 3, and 4 are true

(c) Statement 1 and 4 are true

(d) Statements 1,2,3 and 4 all are true
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133.

134.

135.

136.

137.

138.

419i "gR g, GARIE & IR H A syl R R

Hiforg-

1. 39 GARIE & IGeA held IHeudeddh Al &
Tt ot QAR Sea Ahd! gRT foRaT |

2. SYPI SIS SIRT & fRequ™, areris # fohar
ST IET 8|

e g 7Y ge & T wET 1 T B

He:

(@) had 1

(b) %aer 2

(c) 1 3R 2=

(d) Fat1aiRa2

fRramt fie, 2022 wiFer a9 &R 39 &1 fEare e
St 87

(a) T qeime

(b) Fretg asF

(c) areedt sitgre

(d) 38 @ HIS Tl

811 81 & foha I5g gRT SAMBHAV Uiéa sit=d fohar mam
8?7

(@) I

(b) foBR

() IR U

(d) gfeamom

gy 2022 A gy St Afgen fohdhe fay &u A
frfofEa # & fhd =R it g A9 (W1g-er) g1 TaT?
(a) Sdft gepett

(b) Tt YertEeH

(c) ufcram gt

(d) e manft

Hhue arRg § uf¥d T¥wl & fog 21 T @
FIRETE AR TR ATl U 20 bl & 14T 87
(a) soREA

(b) sfesram

(c) STt

(d) ST

IR & golg IR 3R I & forg fiY fFepra gfsan
Ued US U9 UOifiusE A depld U9d 9 faner slsry
ot 74T Jreger FAgert foham ¢ artort A fohgrent T feram
8?

(a) HIST AR hiEaR

(b) Ta. Y. deFRE

130.

140.

141.

142.

143.

() RAFPAR
(d) Sfiq et

far dle U w99 A 1 e G Bl i
forar T am?

(a) fazeraett

(b) Pdergzm

(c) wifer

(d) fasmamgeTH

fAafafea § @ foham Fdiaofia ot & &3 & gRa
EREIS WR TR i 911 & folg dgad giwon W
gwneR fohg?

(a) ¥Rd iR Wwid

(b) RS SR STHAY

(c) YR 3R ZoR™A

(d) 9RT 3R FieATRRT

VR SR MRt I Mg 7 s g oo
&t oft 7 At Srare SfaT I Tead 1 AW A= J S e
&
(a) firg thadt dea
(b) e fareg omé
(0 gRegH, smERegy
(d) T heRGel Ies

SCHARA SIS A o thik I fUe gRT SRR st
e forg i oY H=maT ST 82

(a) 05 AT

(b) 12 7

(c) 02 3ide

(d) 07 =%

AT GREM A feaw ude oY HAEl Sl g
IfIREd Y R AR &

Tg ufaay 11 3t st 7T ST &

I SgTae Red Tagy §f3ar &t U use &

g R et & ST R 71T ST 8

g U9d g Ugaik qarsil & R Afgernsi
WA A g Ig SIRedh I & AT Tah uged
g

e hl FgIIdT § Hol SR hl AT e

(@) ;dYT 18R 2T 8

(b) T2, 3, R4TT 8

(c) duT13MR4TTg

(d) T 1,2,33R4gfi g g
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144.

145.

146.

The 15th United Nations Conference on
Desertification (COP15) was organized in Ivory
Coast. Who were the persons participating in this
conference from the Indian side?

(a) G. Kishan Reddy

(b) Bhupendra Yadav

(c) Hardeep Singh Puri

(d) Sarbananda Sonowal

Chagas Disease Day is celebrated every year to

spread awareness about it, consider the following

statements-

1. This disease is called
trypanosomiasis or silent disease.

2. This day is celebrated every year on 14 April

3. what is a protozoan disease

4. This disease increases the risk of heart attack

Select the correct answer using the code

(a) Only1

(b) 2and4 only

(¢) 3 and4 only

(d) 1,2,3, and 4 are all true

American

National Mineral Development Corporation
Limited has secured which position in four
categories in the Public Relation Society of India
Public Relations Awards 20227

(a) First

(b) second

(¢) Third

(d) none of these

147. Consider the Jallianwala Bagh Massacre

1. Ttis also known as the Amritsar Massacre

2. Its 16th anniversary was celebrated in the year
2022

3. Jallianwala Bagh garden has been converted
into a memorial

4. Gandhiji had come to India from South Africa
by then

Select the correct answer using the code

(a) 1and 2 only

(b) 2 and 3 only

(c) 3 and4 only

(d 1,2,3, and4all

148.

Consider the steps taken by the government for

100% enrollment in primary and upper primary

schools of Uttar Pradesh-

1. Government started 'School Chalo Abhiyan' for
100% enrollment

2. Under this scheme, teachers will go door-to
door to motivate children to get admission in
school.

3. The first phase of this campaign was started
from Shravasti district.

select the correct answer using the code

(a) Only1

(b) 1and 2 only

(c) 1and 3 only

(d) 1,2, and 3 all

149. Which of the following pairs is incorrect

150.

(a) World Health Day - 7th April
(b) Siachen Day - 16 April

(c) Wetland Day - 2 February
(d) Population Day - 11 July

Dr. Tan Fry has been appointed as the world's

independent expert on human rights and climate

change, in this context consider the given statement

1. He was appointed by the United Nations
Human Rights Council

2. Dr. Ian Fry receives US citizenship

3. Dr Ian Fry is the world's first independent
expert

select the correct answer using the code

(@) Only 1

(b) 1 and 2 only

(c) 2and 3 only

(d) 1and 3 only
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144.

145.

146.

147.

148.

AIRIEHeRoT R 15 o Hgad g e (COP15) &
ST MTEet e H fohaT T 9IRA il —% @ 39
I H 9T oA aret aafay @ 97

(a) Sft. fhsm 3gh

(b) gds area

(o) & g g&

(d) Tefz FEtard

Y A7 feaw ufdad Sieehdr them & o gaman
ST & 39 fava & e syt R R -

5 AR @t sERFr fedEifRam a1 gsde feSfiw
hed &

Ig Rag ude avf 14 31 ot BT ST &

T Ueh Hietsiren sifaa At ¢

59 SR & HRUT gEATHTd &l Gl 96 STl &

e I TErIAT ¥ Hel IR HT TTT B

(a) Pad 1

(b) aet 2 3R 4

(c) Fawt33iR4

(d) 1,2,3, siR4Toft g @

A AR aaude HRURE fafids & ufsrs
R qared sifes gfean ufsden Retsiw sraré 2022 &
IR Aol & e 91 =T T fehar 87

(a) ugen

(b) g

(c) da=r

(d) 379 @ @i &

SIfeTiareT IRT §ATehiS o aR | AR &

1. 38 SR REER +ff wgr ST &

2. a9 2022 # Hh! 16dT s} 7418 TS

3. SIferaiarett anT I &l TR | URaldd o fear
g

4. TiefSTt e deh &f&iuT STThichT & WIRA 311 g o

e h HILTH T el IR 1 AT he

(@) ae 13R2

(b) Fae 2 3R 3

(c) haet 38R 4

(d) 1,2,3, 3k 4 gff

IR U & urafies ok I=a urufaes et 7 erd-
UfdRTd i 8 TRAR A St ehaH IBTY & 9 Uge] IR
foaR &%-
1. TR A Ad-UfArd AR 8g "Chel Tl A"
URH foar

149.

150.

2. 39 ST o dgd fRAefeh BR-8R ST Jeal t Thel H
yaer ke & forg oika &t

3. 39 A9 o U TROT i LA STa<d! [ @
[ERIRIDI

e hl FIAT & ot SR g

(a) haet 1

(b) haer 18R 2

(c) daa13R3

(d) 1,2, 3R 3 goft

frafafed 5 @ o a1 gm Tea &
(a) oy @y kg - 7 e
(b) o= e - 16 siia

(c) deeivg fead - 2 headt

(d) ST fiiad - 11 Jorg

AT AfIRRT JUT STetarg gRad= & forg Sf 33 Wwig
ot fsy o1 T fasioa e fomam mam @ g9 deef o
13 7T o | fAaR &

1. 3% g I AFaT YRR aRve gRT e fhar man
2. ST 34T WIS aht 3ARehT dt AFTRERT UTed &

3. 1 5919 WhTE {3y & ugt W fades @

P hl FIdT & ot SR g

(a) Shaet 1

(b) ehaet 1 3R 2

() Sae 23R 3

(d) ehaet 1 3R 3
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